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Note :	 i)	 Answer any ten sub-divisions from Part – A and any five 
questions from Part – B.

	 ii)	 Figures to the right indicate marks.

PART – A

	 1.	 Answer any ten sub-divisions : 	 (10×2=20)

	 a)	Explain the phenomena of optical pumping taking suitable example.
	 b)	What is Yang cyclization ? Explain with an example.
	 c)	 Illustrate Norrish Type-I cleavage with an example.
	 d)	What is con rotation ? Which symmetry element is preserved in this mode 

of rotation ?
	 e)	Predict the stereochemistry in the following reaction.

		   Me

Me

H

H
Dis
h ?ν→

	
	 f)	With suitable example illustrate oxy-cope rearrangement.
	 g)	What is stork examine reaction ? Explain with an example.
	 h)	Benzoin condensation is specifically catalysed by cyanide ion. account for.
	 i)	 Illustrate the application of Darzens reaction for the synthesis of the following 

compound.
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	 j)	How do you achieve the following conversion ?

		
?

Br
?

CO Me2OO

	 k)	Predict the product in the following.

		
C
OH

Ph
Ph

OH
H SO2 4

?

	 l)	Predict the product in the following reaction

		                                          
∆→ ?

		

PART – B

	Answer any five questions : 	 (5×10=50)

	 2.	 a)	Explain the fate of an excited molecule using Jablonski diagram.

	 b)	What is photo reduction ? Explain the mechanism taking proper 
example.	 (6+4=10)

	 3.	 a)	What is remote functionalization ? Explain its synthetic utility.

	 b)	Explain Di-π methane rearrangement taking proper example.

	 c)	Explain briefly the photochemistry of vision.	 (4+3+3=10)

	 4.	 a)	With the help of correlation diagram predict wheather the photochemical 
interconversion of butadiene to cyclobutene is dis-rotatery or 

			  con-rotatery.
	 b)	Predict the products in the following :

	 i)	 +

	 ii)	 + C
O

H H
?	 (5+5=10)

NH – CH2– CH = CH – C6H5

CO2H
CO2H

? + ?



	 5.	 a)	Deduce Woodward-Hofmann rules for the (4+2) cycloaddition using FMO 
approach.

	 b)	How do you analyze an sigmatropic rearrangement ? Explain taking proper 
example.	 (4+6=10)

	 6.	 Taking suitable examples explain the mechanism of the following reactions.

	 i)	Amadori rearrangement

	 ii)	Baker Venkataraman rearrangement

	 iii)	Schmidt rearrangement.	 (3+4+3=10)

	 7.	 Predict the product and propose suitable mechanism.

	 i)	
O

O

CH3

CH3

KOH  ?

	 ii)	  
2

2 2CH NH NaNO HCI− →+
?

	 iii)	

O

  2 4H SO→ 	 (4+3+3=10)

	 8.	 a)	Predict the product and propose mechanism.

			 
+

CHO
CH Br2

PPh n-BuLi3,O ?

	 b)	How do you achieve the following conversion ?

		
?Acetophenone O Hydroxyacetophenone→ −

	 c)	Suggest a method for the conversion of 2-Napthol into 2-Napthylamine.	
(3+4+3=10)
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	 9.	 a)	Explain the mechanism of following name reactions taking suitable 
example.

	 i)	 Heck reaction.

	 ii)	 Cannizzaro reaction.

	 b)	Predict the product formed in the following reaction and propose suitable 
mechanism.	 (6+4=10)

		                              ?t BuO, t BuOH→− −

––––––––––––
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